EE RS A RRIHEEEAGI19]

8110 [FERE [ANE [ FAEZ | 2010 [AmeEEmmiaz] 2005
% (AR R) TR B s et mi& [ 400a
OPEZREEE URBZLE P REEEGhaalR) OAREkE(0hallE) BEDOM( EARE
OFRAEELNL BRRELANIL
XOELZRERETHEEEZRETTLVMES . BEX. BE. ERELEADOEAFHETLA . EARE X TOMICHEL TS,
L &5 Pl
BRI ABAF®H 12 A BRFBEMEELRE) A
A5 57 B RS (10adp7=Y)
B 18 2H 3H 4H 5H 64 7H 8H 9H 108 118 128 &t
{Iﬁg% E[P[F|E[ B[ F| [P F|E[P[F|E[R[F|[E[P][F|E[R[F|E[PR[F|E[B[F|E[R[F|[E[R[F|E[R][F] —°
ED] 16.0 16.0
i 40 4.0
BE 1.0 1.0 1.0 1.0 1.0 5.0
IR 250 250 25.0 75.0
R 15015 15[15]15]15[15]15][15 13.5
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
‘S{ E 0.0ﬂ 00) 00 |160| 00| 00| 50|00|00f10J00|00|10[00]J00]|10|00f[00| 10| 00| 00(265| 15| 15265 15| 15265 15| 15[ 00)] 00| 0.0 0.0 0.0 113.5
XFH WL, AR AHDOATHA,
SRR
TR, BE, ENUE GRERRAE, Bru) . EBRE
O EHAR RN EE
A 1B [ 2A [ 38H [ 4 T 5B [ 68 [ 7A [ 8HF [ 9A T 10 T 11RH 128 e
] LIEPI'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIEPI'FILIEPI'Foﬂi
A
O:EHE
EfHAR v | | [ ] ] MR
BE
IR = (kg/10a) 2,000
H{f(M/kg) 150
£%8(M/10a) 0 0 0 0 0 0 0 0 0 0 0 0] 300,000
EIEW(E/10a 0
i -I 300,000
STEHE0adH 1Y) S EEH10adH 1Y)
e BE ] ERER 8 e i BE 28
R 8,816
a8 2,015 it 8,816
OEHE(10adp1=Y)
[ FAEke B i3 HRmE EX SXILWFEHH(0adht=Y)
E FHE HRcRE 8
a&f 3,023
S TEYEE(10ad1=Y)
) Hif BE =5
a8 1,008
XEEE={EFE x Bl
QT DhFEMFLE(10adh 1Y)
[rEd fiEia) il %E FERER Ex
|t 4,030
S ZTDMDER
e =5
&R 2519
S& 7,053 BIEE. 3,778
KEF=—BExBE-FREXK 8% 6,297
SEEH0aH-Y)
& e i EE Bh= EE: ] OHEERE0abH=Y)
L] X
LR 2,015
&t 0 EHE 1,008
ZDMEMH 7,053
QEN NS EKE(10adp 1Y) EEE 0
[ fikid ] BE FERER 25 B ARBKE 8,060
B 8,816
iiui&ﬂ 3,023
FEYEE 4,030
ZTOMDER 6,297
&t 40,302
a5t 8,060 XEEBEIEHEOHTHE




